t/t+DM tt+DM t, tt+DM sum
My a(GeV) Obs. Exp. Obs. Exp. Obs. Exp. 68%CI 95% CI
10 159 112 091 050 062 039 [0.27,055] [0.21,0.76]
20 138 104 084 052 058 039 [0.28 056 [0.21,0.77]
= 50 115 1.13 111 0.72 059 046 [0.33,0.66] [0.25, 0.90]
s 100 143 123 0.94 0.96 0.60 057 [0.41,0.81] [0.30, 1.11]
o2 200 1.66 1.57 137 146 078 0.79 [0.56, 1.11] [0.42, 1.51]
300 197 202 209 240 1.05 1.13 [0.81, 1.60] [0.60, 2.17]
500 5.84 5.67 748 897 339 359 [257,5.07] [1.91, 6.88]
10 143 131 0.70 0.70 049 047 [0.34, 0.67] [0.25, 0.92]
g 20 143 128 071 0.75 049 049 [0.35,0.70] [0.26, 0.95]
s 50 148 135 070 0.73 049 050 [0.35,0.70] [0.26, 0.96]
:é 100 153 143 0.81 0.84 055 055 [0.39,0.78] [0.29, 1.06]
2 200 1.89 1.73 118 1.16 076 0.72 [0.52,1.02] [0.38, 1.38]
&) 300 217 217 1.74 185 1.00 1.04 [0.74, 1.47] [0.55, 2.00]
500 822 831 800 925 417 453 [3.24,639] [241,8.67]



